
Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

1st Month, 2nd Week, 2nd Day Sub-domain II. Exercise 1.3. Q#(2,3)

Q.1. Choose the correct options.   (1 x 6 = 6)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) Find the round off value 2.785 (2d.p.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttÅÅÅÅŠŠŠŠgggg\\\\ooooJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 2ÃÃÃÃ 2.785

(a) 2.79 (b) 2.800 (c) 3.79 (d) 3.89

(ii)  Round off 88.9856 (4s.f.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVÅÅÅÅŠŠŠŠgggg\\\\ooooJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 4ÃÃÃÃ 88.9856

(a) 88.986 (b) 88.995 (c) 88.99 (d) 88.996

(iii) Round off 15.3456 (2d.p.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 2ÃÃÃÃ 15.3456

(a) 15.44 (b) 15.35 (c) 15.345 (d) 15.45

(iv) Round –23.456 (1d.p.) away from zero to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 1 ÃÃÃÃ####ÐÐÐÐŠŠŠŠzzzzgggg –23.456 ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) –23.46 (b) –23.55 (c) –23.4 (d) –23.5

(v) Round –45325 (3s.f.) away from zero to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVÅÅÅÅŠŠŠŠgggg\\\\ooooJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 3 ÃÃÃÃ####ÐÐÐÐŠŠŠŠzzzzgggg –45325 ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) –45300 (b) –46000 (c) –46300 (d) –46400

(vi)Round –17.7898 (4s.f.) away from zero to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVÅÅÅÅŠŠŠŠgggg\\\\ooooJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 4 ÃÃÃÃ####ÐÐÐÐŠŠŠŠzzzzgggg –17.7898 ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) –17.78 (b) –17.88 (c) –17.79 (d) –17.89

Q.2.Answer the following questions. (1×4=4) ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX
(i) Find the round off value (1172859) (5s.f.) away from zero to the

given degree of accuracy.

ŠgzZëyÎVÅŠg\oJ-özŠ™,X 5 Ã#ÐŠzg 1172859

(ii)Round off 10.4579 (3s.f.) to the given degree of accuracy.

ŠgzZëyÎVÅŠg\oJ-özŠ™,X 3Ã 10.4579

(iii) Round 523568 (5s.f.) away from zero to the given degree of accuracy.

ŠgzZëyÎVÅŠg\oJ-özŠ™,X 5 Ã#ÐŠzg 523568

(iv) Round 45.354876 (5d.p.) to the given degree of accuracy.

ŠgzZ(gtJ-özŠ™,X 5Ã 45.354876

Time: 10 Minutes Paper Math 8 (T-1) Total Marks: 10

1st Month, 2nd Week, 2nd Day Sub-domain II. Exercise 1.3. Q#(2,3)

Q.1. Choose the correct options.   (1 x 6 = 6)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) Find the round off value 2.785 (2d.p.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttÅÅÅÅŠŠŠŠgggg\\\\ooooJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 2ÃÃÃÃ 2.785

(a) 2.79 (b) 2.800 (c) 3.79 (d) 3.89

(ii)  Round off 88.9856 (4s.f.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVÅÅÅÅŠŠŠŠgggg\\\\ooooJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 4ÃÃÃÃ 88.9856

(a) 88.986 (b) 88.995 (c) 88.99 (d) 88.996

(iii) Round off 15.3456 (2d.p.) to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 2ÃÃÃÃ 15.3456

(a) 15.44 (b) 15.35 (c) 15.345 (d) 15.45

(iv) Round –23.456 (1d.p.) away from zero to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZ((((ggggttttJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 1 ÃÃÃÃ####ÐÐÐÐŠŠŠŠzzzzgggg –23.456 ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) –23.46 (b) –23.55 (c) –23.4 (d) –23.5

(v) Round –45325 (3s.f.) away from zero to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVÅÅÅÅŠŠŠŠgggg\\\\ooooJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 3 ÃÃÃÃ####ÐÐÐÐŠŠŠŠzzzzgggg –45325 ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) –45300 (b) –46000 (c) –46300 (d) –46400

(vi)Round –17.7898 (4s.f.) away from zero to the given degree of accuracy.

ŠŠŠŠggggzzzzZZZZëëëëyyyyÎÎÎÎVVVVÅÅÅÅŠŠŠŠgggg\\\\ooooJJJJ----öööözzzzŠŠŠŠ™™™™,,,,XXXX 4 ÃÃÃÃ####ÐÐÐÐŠŠŠŠzzzzgggg –17.7898 ŠŠŠŠ~~~~ˆ̂̂̂gggg¶¶¶¶
(a) –17.78 (b) –17.88 (c) –17.79 (d) –17.89

Q.2.Answer the following questions. (1×4=4) ŠŠŠŠgggg`̀̀̀ffffssssÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ[[[[ŠŠŠŠ,,,,XXXX
(i) Find the round off value (1172859) (5s.f.) away from zero to the

given degree of accuracy.

ŠgzZëyÎVÅŠg\oJ-özŠ™,X 5 Ã#ÐŠzg 1172859

(ii)Round off 10.4579 (3s.f.) to the given degree of accuracy.

ŠgzZëyÎVÅŠg\oJ-özŠ™,X 3Ã 10.4579

(iii) Round 523568 (5s.f.) away from zero to the given degree of accuracy.

ŠgzZëyÎVÅŠg\oJ-özŠ™,X 5 Ã#ÐŠzg 523568

(iv) Round 45.354876 (5d.p.) to the given degree of accuracy.

ŠgzZ(gtJ-özŠ™,X 5Ã 45.354876

2 2


